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Attempt all the Jive questions. One question from each

Unit is comoulsory.'All questions carry equal marks.

1. o1fuq aen

Discuss the nature and scope of Management Accounting

and distinguish it from Financial Accounting.
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The operating results af XYZ Ltd, for the year 2018-I'9

are as follows :

The additional informations relating to performance of

B
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Sales

Variable Cost

Direct Fixed Costs

7,00,000

3,00,000

2,00,000

You are required to prepare performance evaluation report

and rank the three departments on the basis of relative

profitability.
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2. e-srft fuiT"r Eqr t ? qe fu-s's6tr ;rq{*tq fuaq d

g6 tia a1 nra o-rd .Friff t ?

What is Budgetary Control ? How does it operate as a tool

of managerial control ?

Sales
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Iess : Fixed Cost
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Calculate :

(iii) Material cost variance
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A company earned a profit of T 3,90,000 during the year
2018-19 after adjusting the

Calculate funds from operations.

5. fr-qr oirETrRd a.m-f,
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What is Activity Costing ?,What are its advantages
and limitations ?

d mn*ry

What do you understand by Reporting to Management
flre submitted to various levels of

Depreciation tbr the year

Prel iminary Exp" written-off
Goodwill written-off

Profit on Sale of fixed assets

Dividend Received

Loss on sale of long-term investment

1,43,000
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2,6A0

2,090

6,500
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affect this decision'
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What is Cash Flow Statement ? How
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What is the role of, marginal costing in the decision of

'Make or Buy' ? Discuss the other factors also which
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